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"Many that live deserve death. And some die that deserve life. Can you give it fo them? Then be not
too eager to deal out death in the name of justice, fearing for your own safety. Even the wise cannot
see all ends.” - JRR Tolkien

Questions 1-15 are worth 2 points each:

1.
0 O ALDOL
A AN
H H .
Which of the five compounds shown below cannot be formed in the crossed ALDOL reaction
between the two aldehydes shown above?
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Which of the five compounds shown below cannot be formed in the crossed CLAISEN reaction
between the two methyl esters shown above?
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The major product of the reaction shown above is:
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The starting material necessary for this transformation is:
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The product of the Dieckmann condensation shown above is:

A co,Et coet P oo, coet EOQ
COLEt
CO,Et
CO,Et
6.
N O

(i) H3O*
The reaction shown above gives which product:
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The reaction shown above gives which product:
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The reaction sequence shown above gives which product:
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The reaction shown above gives which product:
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The reaction shown above gives which product:
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The reaction shown above gives which product:
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The reaction shown above gives which product:
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The reaction shown above gives which product:
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The compound shown above is an intermediate in the Hofmann Rearrangement, and is called:

A A Carbamic Acid B An Isocyanate C A Urea D An Amide E An Nitrene

15. The product of the Beckmann Rearrangement is a:

A A Urea B A Lactone C A Lactam D An Amine E An Oxime



